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QUESTION 1

Which are three reasons an administrator would need to create an Organizational Group instead of using a Smart
Group? (Choose three.)

A. Override Directory Services settings
B. Integrate with a second LDAP forest
C. Assign compliance policies

D. Set a different set of privacy settings
E. Assign device profiles

F. Create regional administrator accounts

Correct Answer: CEF

QUESTION 2

When configuring profiles in the Workspace ONE UEM Console for Android devices, why would some setting features
and payloads be supported for specific original equipment manufacturers (OEMS) and/or operating system (OS)
versions?

A. Profile configuration requires a device directly purchased from Google

B. Profile configuration requires an application built with the Airwatch SDK installed on the device

C. Profile configuration is dependent on operating system and firmware API availability

D. Profile configuration is XML-based and depending on the OEM or OS, the device may not support XML

Correct Answer: C

QUESTION 3

Which three parameters can be used to create authentication policies in Workspace ONE? (Choose three.)
A. Device compliance status

B. Network Range

C. Device operating system

D. Device Platform

E. Device geolocation

F. HTTP Application Identifier
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Correct Answer: BDE

QUESTION 4

What Workspace ONE process allows an administrator to prepare 50 newly purchased Windows 10 devices for
enroliment without connectivity to the Internet and without using Workspace ONE Intelligent Hub installation
parameters?

A. Windows Auto-Discovery

B. Command Line staging

C. Manual staging

D. Azure AD Integration enrollment

Correct Answer: A

Reference: https://techzone.vmware.com/troubleshooting-windows-10-vmware-workspace-one-operational-
tutorial#968027

QUESTION 5

What role does vIDM support in an OpenlD Connect (OIDC) authentication flow?
A. Relying Party

B. Resource Server

C. User-Agent

D. OpenID Provider

Correct Answer: C
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